
a) Evaluate 13)
b) Solvelfxl = I
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Practice Exam 1 Revie$

1) Below is shown the graph ofllx)

takeoll'.
a) Interpret l a5l

a) EvaluateJ4O
b) Solve /r., = ,1

c) Evaloate !t!al,
d) E\aluatetg(7/)
e) h,aluate s#flll

This is NOT intended to bc comprehensivel

sh"o\s the cost of a latte. in dollars, as a funclion o1'the

I
l

2) Suppose the I'unction,l14 gives dre height ofan airylane (in feet) I minutes a{ier

^/-.l,. r)u)' t2
b) Snppose you solve A(t) :3A0. what is the meening ofyour solution'l

e1

4) Sr.rppose the follorving table
srze ofthe lJLle. in ounccs

5) Circle all oithe

tn 1 .+ i5 4

out v 5 6

a)

b)

Evaluate C(l2, and gir,e its neaning in practicaL terms

Sohe alat : i.0 and give its nrcaning in placlical te ns

l,

:ll Given the flrnctior'r l/xl delined by th table below
) 4 ) 6 '1 8

fk) 2 4 ) 6 ) -2 -1

x6) 8 l 2 7 6 4 5

s 8 l2 i6 2A

(:ls) 2.0 2.5 i.0 '1 5

1l',I 2

\o ut 5 6 5-.

ln 2 4 6 7

o11t f 7 6 4
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)
6J (iir en /(r)=-

r+4

a) Evaluate,{37

b) Evaluate t r(6)

c) State the domain oflt)

d) Evaluate /c - 1)

Vt0Y/ ?n

t\

e) Given g(x) = xr I, flndJkO))

Find the domain offte follorving functions

a) h(t)- li 2r +r

b) c(r)==

8)

e)

Detennine the domain ard range olthe following function and skctch its glaph
(-3 t< 1

lL',, .l1, l-r.l ' ttt
l, ', -'t

Given a funcLion,{xJ, represent the following in flrnction notation

a) ./fx, shifted 3 unjts to the left l-lX+f
1.,,:.,f.op.dorerr,cj an.. {l i) 

,\ \
cr /,'r,,rerJhed ,orizonk lr b), acror ol2 I ( t- { 

)
d) ix) compresses vertically by a factor ot tt, -_il
er /,1, co"nnrec.ec .oriuo.rr t) o. d l!cr.'t ot I 2 I / ,) 

)
t) lfr, stretched veltically by a lactor of 2 ------ :->

/ -]7^l
n- 'r' )

;i(r)
g) ftJ shifted down 2 units

h) ,{i, shifted dght 5 lulits

i) /frcJ flipped over the r-axis
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10) Dcscribe in wotds the fbllorving translomation: '3lfjr - 2) + I

11) Graphed belorv is the funclion garcJ and a tranjlbrmation olg/jr) \lrrite an i:qu.ttion

for The transfol mation.

12)Shown belorv is a graph of {.r1. Sketch a graph ol -lb; + 1,

i-.tr I

lzi-c,-'rL r I f -cA,

13) Suppose the fluction/r, gives the anount oftax owed by a peLson rvitl an rncome

.)1 r \\l ite in flrnclion notation:
a) I paid $I00 lessintaxes lhanIoted
b) Because oIa deduction, I had to pay tales on $100 less than my income.

1'1) wlite an equalioi for the
pieceu'ise 1'unction graphed belou'
I-lint: il is a comprised oftwo
translomred tdolkits.
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